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Third Semester 3 Yr. LL.B./VIl Semester 5 Yr. B.A./B.B.A.LL.B. Degree

Examination, June 2013
LABOUR LAW

Duration : 3 Hours Max. Marks : 100

Instructions: 1. Answerallquestions.

Q. No. 1.(a)

2. One essay type and one short note question or problem
from each unit have to be attempted.

3. Figures to the right indicate marks.

4. Answers should be written either in English or Kannada
completely.

UNIT -1

Explain the term ‘workman’. Distinguish workman from
independent contractor. Marks : 15

"FIFT TRV, 0L, FOFEIRD, B Z0Y, MOGNweSR0T

OR/es53s5
Discuss briefly the impact of industrial revolution of India
upon workmen.
TONOFTT e YRTBE G0t 53,0808 ms—@-@mws%
#o%ﬂmﬁ WA
Dispute relating to dismissal of workman — Does it amount
to industrial dispute ? Decide giving reason. Marks : 5
2.0)) TOROFBIT) P BRENRYTOOT YVOERNIE T~ B0
3MO0T DTOTRE ? TTD BB SeRPEIR.

OR/esgss
Workers of a company wanted to celebrate ‘Ayudha Pooja’ one day
earlier to the festival. They requested the company to declare holiday on
that day and they were ready to compensate the loss of work by
working on another holiday. But the management refused to declare
holiday. Workers enbloc applied for casual leave. Does this amount to
strike ? Give reason.

P.T.O.
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Q. No. 2.(a)

Q. No. 3.(a)

2 0 O R

WOTD BOTICH BORMOTTY ‘303205 TR’ odadao{ WO O
RRTS 523070 &5 O TLONHOT TPREARLICFOTD, &8 AIT
3O da&ﬁdg ngoﬁo ‘TE0H QAT WeF mRRIRTBOD
B0 OTOR)TINCIR FePBROBTY. BWT BB :I0TLOIN TN
Ted Fuoeamed QTITORR. &R FURMTTO Lomd Lt TS
TR 903 TOBTT. BT a’m—-’%ﬁ;d SRR ? TTERR.

UNIT -1l

What is lay-off ? Explain the circumstances in which the
laid-off workmen are not entitled lay-off compensation.

SUTRENLIOE 0BT 9 03N FoTPFNYY, GuTsR ereood
FTOIEBTD, emdr%ermo@ mjmddﬁg{ TEODLD BT
@omdd& DO

OR/e5s?

What is unfair labour practice ? Explain various unfair labour
practices on the part of the employer.

IR0 TOIFT B30T D0BTERY ? BRODBI RDSCI0T
ST NG SROUWE TFT SWBOBNATR)_ Q=03

The services of a workman is terminated due to loss of
confidence by the employer— Does it amount to retrenchment ?
Decide giving reason.

S0wE BSTRBROT @@3?%@:’% TROEBI FORDOT T2 BIRBEINT
- QT B3R mmaémmgcﬁo&e? FOTD RS SCTIE .

OR/esgss

Write note on ‘recovery of money due from an employer’.
TROT0T FQLITNTD Ted SRRAOD i 5T 23T

UNIT -1l

Define ‘Trade Union’. Examine the extent of immunities

available to registered trade union from civil and criminal

liabilities.

‘TOROFFROP TR, TOWFT BOPFE AV 3By §ATS

mcgséosood eng TRTO30R meséjow@ waez}fo.
OR/e&53e5

Marks : 15

Marks : 5

Marks : 15
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Q. No. 4. (a)

What is personal injury ? When is the employer not liable to
pay compensation for personal injuries by accident under
Workmen’s Compensation Act ? Discuss.

00088 3 DOWTER 9 FHAFTT WOTT LHROXROT, 0D
03T ROTPENT BROBR LRFTSLOTI0LINT dgjojaéﬁ
TN WEINTIY_? LWFR.

The workman died due to natural lightning while working at
the site —Is the employer liable to pay compensation ? Decide
giving reason.

BB 302 %ériggdé’gﬁ @d@mﬁ@bﬁ %#ﬁr% 2BOT BRT3T
5%35@353. TSRO TOTOT BRTED BRFBMOTIC ? T2TD 5
SCRIE .

OR/egw

Injury sustained by a workman in the factory while taking his
mid-day meal during the internal period — Is it an injury
connected with the employment ? Give reason.

dsqﬁagosd I lepiveint REPONG TTOF HONY_ e mmgdomﬁ
TIFTAN  TONOTVOLTIONBY - AT emcir%en’% RORIOTITE,
TV P T BRG.

UNIT -1V

Explain the provisions relating to adjudication of disputes

0302/0722

Marks : 5

and claims under the Employees State Insurance Act, 1948. Marks : 15

1948 T 5033 oo, 2R FIOWTCRODE TN
99,030€9E 0 WY FERONYT FOWORAT wwwoz‘ﬁr{eﬁ@i
QO

OR/esgss
Define contribution, examine the law relating to contribution

by the employer and employees under the Provident Fund
Act, 1952.

B2 TR 1952 3 BARI PCRTODRODY, RPAeFT
TONR FOFBOOT 308103 wrﬁ_\ elowrn Eam&d}% Z08eDR.
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(b) Write note on ‘Medical Benefit Council’ under Employees
State Insurance Act. Marks : 5

TORFBT Tz IR WHACDTRODYT ‘3 secd Todpews
TVORIS” o} 83 B0,
OR/&5es
Examine the features of Maternity Benefit Act, 1961.
19613, Tort I8, TR @isamf;’% T0dCAR.

UNIT-V

Q. No. 5.(a) Briefly explain the various provisions relating to safety
measures under the Factories Act. Marks : 15

TIE0IF NG WRICROTE 7336@‘@’7? #owo;ﬁw@é wwwo;ﬁn’%ﬁ@%
TO3TmN DTOR.
W=>
OR/e5s?

What is the object of Minimum Wages Act ? Explain the
provision relating to hours of normal working day under the
Act.

%@a’% 2333 TN wd@eéﬁdem? ARRT, BORT OFT ey
27, TOTICDRODY, Foloin] mwwoqs’d@{ QO

(b) A person employed to clean machinery in a factory —Is he
worker ? Decide with reasons. Marks : 5

ojaogr{%fs% :éz:éﬁfa%w JeROTNTOR 523_% BORAMOTIC ? T2TED
T2 SN
OR/e5s?

Examine the object and scope of Contract Labour (Regulation and
Abolition) Act, 1970.

1970 T 30030 T T (E’Ooﬁaogsa ﬁaé_’; dcgs%) FCTIOI emz%eé
533_’; mﬁoﬁo@{ OO




